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Who was the first secretary of the Indian Association established by Surendranath
Banarjee on 26! July 1876 2

(1) Prof. Sundar Raman (2) W.S. Blunt
(3) Anand Mohan Bose (4) Shishir Kumar Ghosh
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The State was lapsed by company government for not making proper arrangement
of his descendants after his deathby which of the following kings of Nagpur ?

(1) RajaRaghuil (2 RejaRaghuill

(3) Shreemant Maloji Raje Bhosle (4) Shreemant Appasaheb Raje Bhosle
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“The queen of Jhansi was the only ma:

llowing made the statement

?mong all 9
1) John Lawrence (2) Major Sergeant
(3) Hugh Rose (4) Colin Campbell
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Which of the followin iti
'Ng personalities were related with establishment of ‘Britis" Inoé |

Committee’ for Nation
, al C
a. Philip Spratt, Brian 83:3538 at London on 27 July 1889 ?
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Dry farming in India as defined by Swaminathan (1970) is,
a. More than 100 cm but less than 120 cm
b. Less than 30 cm
c. More than 200 cm
d. Less than 100 cm but more than 40 cm
(1) onlya (2) aandb (38) onlyc (4) onlyd

(4) ®FE

where mean annual rainfi
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rect option.
. ts and select the cor
following statemen S s.
%t')sﬁ%?"ﬂ;zlg o atreng)::g gyg;;:rzu:r;ofgtnd in sedimentary rocks.
i imesto " g
b. Minerals suc: a: lr!nica garnet are not found in metamorphic rocks.
Minerals such & ’ (2) a, band c are correct

s
1) aand c are correct i
zS; a and b are correct (4) only b is correct
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Which of the following statement/s is/are correct ?
a. Bhima river basin is a separate river basin in Maharashtra.
b. Painganga river rises in Ajanta range.
c. River Manjara is the tributary of Krishna.
d. Sindphana river is a northern tributary of Godawari.

(1) onlyaandb (2) onlyb (83) candd (4) a,bandc
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Which of the following is not an a

. uthorised platf | ' i - ute
permitted forex transactions electronically ?p SR AT s 1o oxe0
(1) A recognised stock exchange

(2) A platform authorised p
; Yy the Reserve Bank R
(3) Any online platform offering forex trading seorvflégiia s

(4) Abank authorised by the RBI to deal in foreign exchange
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Which is the main objective of National Agricultural Cooperative Marketing Federation
of India (NAFED) ?
a. Credit distribution.
b. To promote rural industrialization.
c. To promote cooperative marketing of agricultural produce.
d. To sell agricultural produce in cheaper cost.
(1) Onlyb (2) aandd
(3) Onlyc (4) bandc
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Which of the following statement is correct regarding Indian Budget ?

documents shows total receipts and expenditure.
ts shows fiscal deficit.

hows primary deficit.
hows effective revenue deficit.

a. Indian pudgetary
b. Indian pudgetary documen
c. Indian pudgetary documents S
d. Indian pudgetary documents S

(1) aandb (2) candd
(4) All of the above
(3) Only b
e pP.T.C
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Which of the following statements is true about the Consumer Price Index for Industrial

Workers (CPI-IW) ? .
a. It applies to all workers in India, regardless of their sector.

b. Itis solely used to determine the minimum wage.
c. Itis based on fixed basket of goods and services which never ch.ang'es.
d. Ithelps to ensure that industrial workers receive fair wages and maintain a decent

standard of living.

(1) Onlya (2) Onlyc (3) Onlyd (4) Bothaandb
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Which of the following is not an method of qualitative credit control of Central Bank ?

(1) Control on consumer credit (2) Control through issuing directives

(3) Regulation of margin requirements  (4) Open market operations
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Which of the following statements are correct ?
a. Indian Handicrafts Development Corporation was established in the year

1958.
b. ‘PMVis J |

;l'\‘de\:':set‘rwakarma Kaushal Samman’ Scheme is Central Government sponsored
(1) ais correct (2) bis correct
(3) aand b are correct (4) None of the above
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Which of the following are three important factors leading to change in the demographic

study of India ?
(1) Birth rate, maternal mortality rate and migration

(2) Birth rate, death rate and infant mortality rate

(3) Birth rate, death rate and migration
(4) Birth rate, maternal mortality rate and infant mortality rate
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State the correct order of the top five largest economies/richest countries in the world
as per the International Monetary Fund (IMF) data published in 2024.
(1) China, USA, Germany, India and Japan
(2) USA, India, China, Japan and Germany
(3) Germany, USA, India, China and Japan
(4) USA, China, Germany, Japan and India

35. . foorr oot wfirden staarer 71 oft e sz,

(1) SemEhE guren (2) s v gawon
(3) =ATR o gawon (4) foefra el gemon

Dr. Vijay Kelkar Committee Report is related to

(1) Administrative reforms (2) Indirect tax n.aforms

(3) ‘Trade reforms (4) Financial sector reforms
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(1) Hardt ?
(3) UL -Heda™ (@) fwgom
(4
What was the gharang of T )
(1) Mewati Shid Khan 7
(3) Rampur-Sahaswan ;2) Kirana
4)  Lucknow
gppm———— \
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Which of the following States has started ‘Orunodoi 2.0' Scheme to alleviate poverty ?
: (1) Manipur ) Nagaland
(3) Mizoram ()" Assdin
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What is the motto of Surya Kiran Aerobatic Team (SKAT) ?
(2) Nabh Sprusham Deeptum

(4) Karm hi dharm

(1) Sadaiva Sarvottama

(3) Shatrujeet

SR S R

(1) 3rgeag 3R S
i (4) =T 2y
(3) arg=sg 3¢0 . i
: : :2n Constitution deals with the topic of State Legislature ?
Which Article in the India (2) Article 168
(1) Article 22 (4) Article 25
(3) Article 380
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Who among the following has the power to elect the Advocate General of the State ?
(1) Chief Minister

(2) Governor
(3) State Election Commissioner
(4) State Public Service Commission
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Which of the following States has a Bicameral Legislature ?

(1) Andhra Pradesh, Bihar, Karnataka, Gujarat, Madhya Pradesh, Kerala

(2) Maharashtra, Telangana, Uttar Pradesh, Assam, Odisha, Guijarat

(3) Karnataka, Maharashtra, Telangana, Uttar Pradesh, Bihar, Tripura

(4) Andhra Pradesh, Bihar, Karnataka, Maharashtra, Telangana, Uttar Pradesh
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Which Schedule of the Indian Constitution contains the allocation of seats for each
State and Union Territories in the Council of States ?

(1) First Schedule (2) Second Schedule

(3) Third Schedule (4) Fourth Schedule
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Consider the following statements.
a. At present, the Eighth Schedule of the Indian Constitution specifies

on H1g

22 languages.
b. Among them Konkani and Nepali languages were added by the 92nd Amendment
Act of 2003.
Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above
65. T A Gued B v W UsEeea Fg=ver M.

(1) =% 39 (2) =BT 40  (3) 3ITHE 42 (4) Fg=sT 41

The subject of ‘Organization of Gram Panchayat' is included in Article
of the Constitution of India.

(1) Article 39 (2) Article 40 (3) Article 42 (4) Article 41

66. ai-% B Wieha el yeT e

(1) Cu/Sn (2) Cu/zn (3) Cu/Pb (4) Cu/Ni
Bronze is an alloy of

(1) Cu/Sn (2) Cu/Zn (8) Cu/Pb (4) Cu/Ni
et Famme fsiere’” =1 swEm TR .

(1) 3 (2) @ (3) Ty (4) fasurg
“Zeolites” are used as in chemical industry.

(1) Catalyst (2) Lubricant (3) Mordant (4) Alloy
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(K. ‘31 =1 A A A e (2)
(8) ‘3" =1 R0 TakK BT WEN (4)
‘A’ sells an article to ‘B’ at a profit of 10%. ‘B’
10%. So what happened in this transaction ?
(1) ‘A’ neither losses nor gains (2) ‘A makes a profit of 11%
(8) ‘A’ makes a profit of 20% (4) ‘B losses 20%

oy |1 9% T B AT
=1 30 b A1E A

sells the article back to ‘A’ at a loss of

e ———

WW‘Q' 360 o FTH TEEE G . e Yo awteera %, 3 <l g
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: :-‘_";m 24 . (2 VRV @) 32 4) 20

Sameer purchased some apples for a total cost of Rs. 360. If had he got discount of
Rs. 3 on each apple, then he could have purchased 25% more apples. How many
apples did Sameer originally purchase ?

(1) 24 (2) 30 (8) 32 (4) 20

'

150 & 500 A1 TS fohedt T 11 3 W Sar ?

(1) 31 (2) 32

(3) 34 (4) 36

How many numbers between 150 and 500 are divisible by 11 ? L\S ‘\' 3

(1) 31 (2) 32
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(1) 42 (@ 44 3y 48 (4) = T

If + means —, —means x, + means +and x means +, then 15 -3 4+ 10 x5+ 5= 7

(1) 42% | (2) 44 (3) 48 W ) None of theseé
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In a certain code lang, Ry (4) RISTTIBUDION
's DISTRIBUTION writgp KTHROUGH is written as EAOUHRBRGHKT. How
(1) TlSTBUGNm 2 o language 7
[,; N ,._\ . Sy e
. (3) STTIBUMQNH‘ (2) SITIBUONRIDI
N — i (4) RISTTIBUDION
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days. How many bricks will be prepared by :

(3 17500 A 14400

1357 (4) 1407 E

telegraph pole in 9 seconds. Find the

A train runi
length o L .
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~ Read the following information carefully and answer the question.
v ‘33 L %(smdents ider A B, C, D, E and prarticipated in self evaluation test of Maths and

SXYE % tal marks of A in Maths was just above C and marks in Science just above F.

Ill. B was just above C in Science but scored less than D in Maths.

32 V. F got more marks than D and E in Science but did not perform as well in Maths as D.
£ V. No one is in between C and D in Maths and C and A in Science.

Who got the highest marks in Science ?

(1) A ;A 3) C (4 D

faem ¢ ;& TR S TR
3 : Td Sl B 3TEd.
freerd 31 ; 7 Hel AR SR
@ Fd Fol St 3.
(1) Fesd 31 SR AR @) frers 9 stew am
(3) fropd 31 9 9 Gl SIS R 4) Tt 31 9 = =8 gh= ama
Read the following statements and choose the correct conclusion/s.

Statements 1 : All mogara are shewanti.

- (2) Conclusion B is correct

(1) Conclusion A is co o
t (47 Conclusion A and B both are wrond

(3) Conclusion A and B b
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